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ÿ

ˆ̂̂̂ ˆ̂̂̂ H H H† H ‹ H{ H H
Go from my window

Variations

H H ‡ ˆ̂̂̂
attr. Orlando Gibbons
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F F G H H G H H H H G F

<

ýý
ýý
ýý
ýý
ýý
ýý
ýý
ýþ

ÿ

HÚ H H H H H H H H H H H G G H H G H H H G…
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H HÚ H† F H H H† G G H H H G
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H HÚ H G H H H H H H ‹ H{ H H H
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Hê H H H H G G H G H H ‹ H{ H H G H H G G
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H H G HÚ H H ‹ H H H
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G ‡ ˆ̂̂̂ H ‹ H{ H† H H H ‹ H{ H H H
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ÿ G ‡ G H† G H H H H H H G ‡ H H HÚ H H†
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Hê H H H G H H H G H H‡ HÚ G H H HÚ H G H H H H ‹ Hr
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G H H G H H H H G F G H H H H H H H
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ÿ H G HH H H G H H H H H F H H H H F
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G H† H HÚ G H H H G H H H H† H H H H H ‹ H{ H H
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H H H H† H H H H H G H H G G F F
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F F G HÚ† H H H H H H H
H H H H H H H
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ÿ H H H H† H H G G ‡ G HÚ† H H H H H ‹ H{ H H
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Hê H H H H G ‹ H H ‹ H{ H H H
G H H G H H G ‹ HÚ
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G H H G G F F G H H G H H
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H H ‹ H H H H H H H HÚ{ H H{ H ‹ H{
HÚ H H ‹Ú H{ H H H H G H H H H H
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ÿ G ‹ H H H G H H ‹ H H H H ‹ H{ HÚ H H H HÚ H G H H G
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ˆ̂̂̂ ˆ̂̂̂ ˆ̂̂̂ ˆ̂̂̂ ˆ̂̂̂ ˆ̂̂̂
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G ‹ HÞ H H H H ‹ H{ H
H HÚ H G H H H H ‹ Hr H ‹ H{ H H H H G
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H H G H H H H H H G H H H H F F
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H H G H H H H ‹ H{ H H
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ÿ G H H HÚ G H G H H H H G H G H H H G
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G H H G G F F G H H G G
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H ‹ H{ HÚ† G H H H… H ‹ H{ H H H H H H H ‹
H H H H H G G ‡
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H H H H H H H… H H H H HÚ{ H H{ H
H H G H H H H H… H H H‡ … H H H H HÚ H H
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ÿ

H H H H H H H… H H H H H H H G H H H… H ‹ H{ H ‹ H{ H H H H † H H H‡ …
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ýý
ýý
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ˆ̂̂̂ ˆ̂̂̂ ˆ̂̂̂ ˆ̂̂̂ H H H H H H H… HÚ H H H H H
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ýý
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ÿ ˆ̂̂̂ ˆ̂̂̂ H H H H H H H… H H H H H H H H H H H H G H{ H…
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F F G H H G H H H H G G G
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H H H H H H H G H H H H H H H… H H ‹ H{ HÚ G ‹ H HÚ HH HHH
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ÿ

H H H H H H H H H G H H H‡ … H H H H G G G H H H HÚ{…
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ýý
ýý
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ÿ

H H H H† … HÚ H H H G ˆ̂̂̂ ˆ̂̂̂ H HÚ H H H H H… HÚ HH H H

=ýý
ýý
ýý
ýý
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ýý
ýý
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ÿ F F ˆ̂̂̂ ˆ̂̂̂ H H H H H… F
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G H H H H G F F H ‹ H{ H H H H H H H
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H H G H H G H H H H H H G H ‹ HrH H H H H G
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G ‹ H H HÚ G H G H† H H H G G H† H H G
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H H H H G H H H G G H H H… H H H G ˆ̂̂̂ H G HÚ

=
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ýý
ýý
ýý
ýý
ýý
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ÿ

G ‹ H H H H G H H H H H… G G ˆ̂̂̂ ˆ̂̂̂

=ýý
ýý
ýý
ýý
ýý
ýý
ýý
ýþ

ÿ H H H H
H G ‹ H H H H H H H H H H H G ˆ̂̂̂ ˆ̂̂̂
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G ‡ ˆ̂̂̂ H ‹Ú H{ H H H H H H H HÚ H H G
H ‹ H{ H†
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G ‡ ˆ̂̂̂ H ‹ H{ H H H H G G
H† H H H H H
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ýý
ýý
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ÿ

H ‹ H{ H H H H
H H H HÚ H G H H H H H H H H H HÚ G F

<

ýý
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ýý
ýý
ýý
ýý
ýý
ýþ

ÿ

F F ˆ̂̂̂ H G HÚ H H H H H H H H H H H

=
ýý
ýý
ýý
ýý
ýý
ýý
ýý
ýþ

ÿ

H ‹ H{ H H H H ‹ H H H G ‡ H‡ † H ‹ H{ H H G HÚ H

=ýý
ýý
ýý
ýý
ýý
ýý
ýý
ýþ

ÿ H G H H H H H G ‡ ˆ̂̂̂ H H H H H† H H H H H H H H
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H ‹ H{ H H
H H H H H G H H H H H H H… H H H HÚ H H H G H H G G

:

ýý
ýý
ýý
ýý
ýý
ýý
ýý
ýþ

ÿ

G ‹ H H ‹ H{ G H H H G… H H H H H H H… H H H HÚ H H H H H
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ýý
ýý
ýý
ýý
ýý
ýý
ýý
ýþ

ÿ

H H H† H G H H ‹ HrH H F ˆ̂̂̂ H H HÚ†

<

ýý
ýý
ýý
ýý
ýý
ýý
ýý
ýþ

ÿ

Hê H ‡ H H H H H H H… H G H H ‹ H{ H H H H G ‹ H H H H H

=
ýý
ýý
ýý
ýý
ýý
ýý
ýý
ýþ

ÿ
H H H H H H H H G ‹ HÚ G ‹ HÚ H F G ‹ HÚ G H HÚ H

=ýý
ýý
ýý
ýý
ýý
ýý
ýý
ýþ

ÿ H G H G ‹ H H G ‡ ˆ̂̂̂ H H H H H H H… H H H H H
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F H ‹ HrH H H H H H H H H H H H H H G H H H H H ‹ HrG
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ýý
ýý
ýý
ýý
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H H H H H H H ‹ H H HÚ H H H ‹ Hr G ‡ ˆ̂̂̂ H H H H H H H…
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ýý
ýý
ýý
ýý
ýý
ýý
ýý
ýþ

ÿ

G G H ‹ H{ H† H H H H H H H H H ‹ H{ H H H H H H
‹ HÚ{ H G G

<

ýý
ýý
ýý
ýý
ýý
ýý
ýý
ýþ

ÿ

Hê H G H H H H H H H H G G F F
=
ýý
ýý
ýý
ýý
ýý
ýý
ýý
ýþ

ÿ

H H H H H H H H† H H H ‹ H{ H H H HÚ{ H H{ H H
H H H H H H H ‹ H{ H H H H

=ýý
ýý
ýý
ýý
ýý
ýý
ýý
ýþ

ÿ H H H H H
H H H H H H… F G G G H H G H†
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ˆ̂̂̂ G H† H H ‹ H H H H H H ‹ H H H H H H H H G HÚ
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ÿ

H H H H H H H H H H G H H H ‹ HrH H ‹ H{ H† H H H H H H H H H H H H H H H

<

ýý
ýý
ýý
ýý
ýý
ýý
ýý
ýþ

ÿ

G H H H H G G HÚ† H ‹ H{ H H
H H H ‹ H{ H H H H ‹ H{ G

<

ýý
ýý
ýý
ýý
ýý
ýý
ýý
ýþ

ÿ

G H H H H H H H H G G F G H H H ‹ HrH H H

=
ýý
ýý
ýý
ýý
ýý
ýý
ýý
ýþ

ÿ
H G HÚ H HÞ H H H H H H H

H G H H H G… H H H H H H… G ‹ H

=ýý
ýý
ýý
ýý
ýý
ýý
ýý
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ÿ H H H H H H H H H H H H H H H H H H
H H H H H ‹ H{ H H H G ‡ ˆ̂̂̂
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H H H H H H H… HÚ H H H H H H G ‹ H HÚ H H ‹ H{ H ‹ H
rH H H H H G
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H H H H H H H H H H H… H H G ˆ̂̂̂ H{ H H ‹ H
r… H H H G
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ýý
ýý
ýý
ýý
ýý
ýý
ýý
ýþ

ÿ

G G G G H H H H H H HÚ H ‹ H H H H HÞ H ‹ H{ H H H H H H H H

<

ýý
ýý
ýý
ýý
ýý
ýý
ýý
ýþ

ÿ

H H H H H H H H H G H ‹ HrG H H H H F G ‹ H

=
ýý
ýý
ýý
ýý
ýý
ýý
ýý
ýþ

ÿ

H H H H F G ‡ H H H H H H HÚ… H H H H H H H H H H H G
=ýý
ýý
ýý
ýý
ýý
ýý
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ýþ

ÿ ˆ̂̂̂ ˆ̂̂̂ H H H H H H H… F H H H H H H H H H H H H G
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Hê H ‡ ˆ̂̂̂ G HÚ H† H ‹ H{ G H H H H H F
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ÿ

G HÚ H† HÚ G H G ‹ HÞ H H G H H ‹ H{ H H H HÚ G H

<

ýý
ýý
ýý
ýý
ýý
ýý
ýý
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ÿ

Hê H G ˆ̂̂̂ G‡ H H H H ‹ H{ H H H G H H H G

<

ýý
ýý
ýý
ýý
ýý
ýý
ýý
ýþ

ÿ

H G HÚ G GÚ G ‹ HÚ F ˆ̂̂̂ H‡ †

=
ýý
ýý
ýý
ýý
ýý
ýý
ýý
ýþ

ÿ

H G H H F G ‡ ˆ̂̂̂ G H H† F

=ýý
ýý
ýý
ýý
ýý
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ÿ H H H† G G F F G H H H H H G
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G G H H H G H H H G H H H H ‹ H{… H H G H H H G
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ýý
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ýý
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ÿ

G H H† G H H H H G ‹ H H H ‹ HrH H G‡ G G
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ýý
ýý
ýý
ýý
ýý
ýý
ýý
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ÿ

Hê H H G F ˆ̂̂̂ G G H H H H H G ‹ H

=
ýý
ýý
ýý
ýý
ýý
ýý
ýý
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ÿ

G ‹ H H FÚ G ‹ H H H H H HÚ G ‹ HÚ H F
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ÿ F F G H H G H H H H G H H H G
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H HÚ H H H HÚ H H G H H H H G ‡ H H H H H H H…
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G ‹ H H HÚ G H F G ‡ H H H H H H H…
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ýý
ýý
ýý
ýý
ýý
ýý
ýý
ýþ

ÿ

Gê H H H ‹ H{ H H H H H H H H H H H H H H H
F
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ýý
ýý
ýý
ýý
ýý
ýý
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ÿ

H H G H H G H H H H F H H H†

=
ýý
ýý
ýý
ýý
ýý
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ÿ

H H‡ H H G H H H H F G‡
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H H H H H H H H H H H H H H H H H H H H H H H H H H H H H H H H H H H H H H
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H H HÚ H H H H H H H H H H H H H H H H H H H H H H H H H H H H H H H HÚ HÚ{ H H{
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ýý
ýþ

ÿ

H ‹ H{ HÚ† G H H H… H H H H{ H… H H H H H H H H F
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ýý
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H ‹ H{ G H H H H H H H… H H H H G H ‹ H H H† H H H H H H H H
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ýý
ýý
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ÿ

G ‹ H F F ˆ̂̂̂ ˆ̂̂̂
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ÿ ˆ̂̂̂ ˆ̂̂̂ ˆ̂̂̂ F G G
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G H H H… H H H H HÚ H H H H H H H H H H H H HÚ{ H H{ H H H G

<

ýý
ýý
ýý
ýý
ýý
ýý
ýý
ýþ

ÿ
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